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pe 88 37 51
21.3% 20.5% 21.9%
12 7 5

ZR—Y
7'5 2.9% 3.8% 2.1%
86 33 53

ELD
FELORE 20.8% 18.3% 22.8%
5 4 1

o
HOEs® 1.2% 2.2% 0.4%
7 6 1
)

TOl 1.6% 3.3% 0.4%
55 19 36

IZ%L
i 13.3% 10.5% 15.5%
o 685 309 376
= 100% 45.1% 54.9%




{Fl:ﬁ7 . EE%]

20 % 80 W&
20 30 40 50 60 70 .
2t | DB omit somit 0B ok eomic omie| 55
e 40 7 6 11 7 6 1 2 0
05%| 21.8%| 214%| 146%|  6.0%| 85%|  15%|  6.4% 0%
74 1 2 11 13 17 23 5 2
ED)IA—L
EEOY 175% | 314%|  71%| 146%| 112%| 242%| 359%| 16.1% 40%
) 156 8 14 30 50 38 9 6 1
=/\
BB/ 1Y 37.0% 25% 50% 40%|  431%| 542%| 140%| 19.3% 20%
5 0 1 1 2 1 0 0 0
i o
a-RER 1.1% 0%|  35%  13%|  1.7%|  1.4% 0% 0% 0%
e 106 3 2 19 30 24 16 12 0
AR 251%|  93%|  7.1%| 253%| 258%| 34.2% 25% | 38.7% 0%
26 12 4 3 2 1 3 1 0
FR-DERA TPV
PR 6.1%| 375%| 14.2% 4| 17% 14%|  ae%|  3.2% 0%
-~ 22 3 2 6 1 2 6 2 0
52%  93%|  7.1% 8wl  08%| 28%| 93%|  64% 0%
e 14 4 2 1 1 2 3 1 0
33%|  125%|  74%|  13%|  08%|  2.8%| 46%|  3.2% 0%
- 91 5 5 15 25 8 22 11 0
216%| 15.6%| 17.8% 20%| 215%| 11.4%| 343%| 354% 0%
B 12 2 1 3 3 0 2 1 0
" 28%|  62%|  35% 4%|  25% 0%|  31%|  3.2% 0%
o 88 5 5 26 42 9 1 0 0
209%| 15.6%| 17.8%| 346%| 36.2%| 12.8%|  15% 0% 0%
e 5 1 1 0 1 0 1 0 1
11%|  31%|  35% 0%|  0.8% 0%|  1.5% 0% 20%
. 7 2 0 4 1 0 0 0 0
16%|  6.2% 0%|  53%|  08% 0% 0% 0% 0%
— 56 4 4 4 14 8 12 8 2
—'¢ 133%| 125%| 142%|  53%| 120%| 11.4%| 187%| 25.8% 40%
o 702 57 49 134 192 116 99 49 6
= 100%|  81%|  6.9%| 19.0%| 27.3%| 165%| 14.1%|  69%|  0.8%




